Svenska Bridgeférbundet
Simultantavling Dagtid 2017-10-26

Partavling, 40 bord, 78 par. Antal brickor: 24. Medel: 887.0. Frirond (*) ger egen procent.

Plac Par
1 D15
2 E1l
3 A9
4 E3
5 Al
5 B1
7 C1
8 Cl4
9 D4
10 D16
11 B7
12 D3
13 C5
14 E8
15 B6
16 A2
17 C10
18 E16
19 Al0
20 D2
21 El14
22 D10
23 E18
24 B5
24 E6
26 E5
27 B4
28 A8
29 A6
30 B3
31 E2
32 EI15
33 Ci12
34 El12
35 B8
36 Cc8
37 E23
38 E7
39 EI3
40 E9
41 C9
42 B2
43 D5
44 D18
45 C4
45 D11
a7 E4
48 D12
49 D14
50 Cc2
50 C3
50 El11
53 D9
54 D8
55 Cc7
56 E22
57 Bl1
58 B9
59 D7
60 E21
61 Cl1
62 E24
63 E10
64 A5
65 Ad
66 E20
67 D13
68 E25
69 D1
70 C13
71 C6
72  E17
73 Bl12
74 A7
75 D6
76 E19
77 A3
78 B10

Poang

1199.0
1197.0
1163.0
1159.0
1129.0
1129.0
1118.0
1107.0
1089.8
1087.6
1073.0
1068.0
1065.0
1063.0
1059.0
1058.0
1057.0
1054.9
1018.0
992.0
990.5
985.1
982.9
980.0
980.0
978.0
975.0
971.0
957.0
952.0
948.0
941.5
931.0
925.0
914.0
913.0
906.5
906.0
902.2
899.0
895.0
894.0
891.3
874.9
856.0
856.0
850.0
835.6
831.3
810.0
810.0
810.0
798.5
776.7
770.0
765.8
765.0
752.0
750.5
739.6
739.0
736.4
734.0
710.0
706.0
704.7
701.0
697.1
693.8
689.0
672.0
670.9
654.0
637.0
630.5
611.0
531.0
509.0

%

67.51
67.40
65.48
65.26
63.57
63.57
62.95
62.33
61.36
61.24
60.42
60.14
59.97
59.85
59.63
59.57
59.52
59.40
57.32
55.86
55.77
55.47
55.34
55.18
55.18
55.07
54.90
54.67
53.89
53.60
53.38
53.01
52.42
52.08
51.46
51.41
51.04
51.01
50.80
50.62
50.39
50.34
50.18
49.26
48.20
48.20
47.86
47.05
46.81
45.61
45.61
45.61
44.96
43.73
43.36
43.12
43.07
42.34
42.26
41.65
41.61
41.46
41.33
39.98
39.75
39.68
39.47
39.25
39.07
38.80
37.84
37.78
36.82
35.87
35.50
34.40
29.90
28.66

Namn

Arne Johansson - Leif Hansson

Sture Mattsson - Rolf Larsson

Leif Freij - Ann-Britt Freij

Maud Kylinger - Arne Melin

Kerstin Martinsson - Christer Martinsson
Anders Hammarstrém - Berith Abrahamsson
Benny Hellman - Margareta Roos

Hans Nerell - Paul lwarson

Bengt Hallgren - Cecilia Morner

Sara Haglind - Ingegard Andersson
Jorgen Hirschfeldt - Bodil Andersson
Per Bergstén - Svante Wangberg

Jens Jacobsen - Nils Eriksson

Harald Danielsson - Olle Nilsson
Marianne Gerard - Ulf Gerard

Sven Ruther - Bodil Ruther

Riitta Wennberg - Gosta Bengtsar

Lage Johnsson - Ingemar Lindberg
Ingrid Gereborg - Eva Hjartstrom

Kent Wappling - Else-Marie Wappling
Siv Gustavsson - Ulla Ouchterlony

Lars Haglund - Idor Kihlmark

Kenneth Géllman - Lennart Linnerstedt
Ralf Bystrom - Mats Hallerstedt

Kerstin Engmark - Inger Kippel

Birgitta Melander - Eva Liljestréom

Leif Bergsten - Anders Ludvigsson
Eddie Andréasson - Rune Karlsson
Birgitta Olsson - Evert Ramstrom
Jan-Erik Nerlund - Sune Enqvist
Lennart Karlsson - Waldo Whiteman
Bengt Andersson - Orjan Randhede
Hans Wijkstrém - Leif Anderberg

Gun Karlsson - Ake Karlsson

Lars-Eric Adolfson - Lauri Norta

Gustaf Bergstrand - Lena Bergstrand
Per Parborg - Bo Karlsson

Bertil Helmer - Stig Petersson

Bertil Andersson - Margareta Hedin
Solveig Schon - Anita Cetrelli

Lena Normelli - Margareta Lindquist
Klas Nilsson - Erik Nordenberg

Bruno Astrand - Uno Karlsson

Lottie Lundmark - Leif Lundmark

Lars Dahlgren - Renja Jonasson

Curt Lind - Ingvar Holmér

Eskil Steg6 - Ulla Wahlquist

Inger Nygard - Eivor Henriksson

Sture Nordlinder - Yvonne Nordlinder
Anita Sandén - Margareta Gulliksen
Eva Thornell - Christina Akerblom
Margareta Ljunge - Barbro Nordstedt
Leif Eliasson - Ingvar Malm

Fredrik Broberg - Margaretha von Plomgren
Gunnar Bendz - Anders Lindblad

Ingvar Jonsson - Bengt Andersson

Lars Béackskog - Bertil Hult

Gully Larsson - Gulli Sandberg
Per-Olov Viterstedt - Margareta Viterstedt
Maj Danielsson - Sivert Danielsson
Anna-Greta Berg - Ingvor van Ginhoven
Nisse Askehed - Séren Widén
Ann-Margret Bokmark - Ingmarie Leinskdld
Christina Ahlund - Ann-Christin Green
Jan-Erik Olsson - Lena Olsson
Lars-Gunnar Karlsson - Nils-G6éran Engmark
Kurt Edvardsson - Ingegerd Hermansson
A-C Nathanson - Kerstin Johansson
Bengt Ljungcrantz - Harry Tallo
Eva-Lotta Axséter - Charlotte Koch
Erica Josefson - Bertil Josefson

Anita Folkeson - Jan Folkeson

Leif Jansson - Sonja Forsby

Ingrid Nyh - Sven-Ake Nyh

Else-Maj Sigfridsson - Birgitta Kempe
Ingrid Karlsson - Margareta Strém

Siv Johansson - Karin Gunnarsson
Margareta Jonsson - Méarta Larsson

MID

8768
1503
761
31298
3865
85774
15033
85810
8909
57308
3590
41
8705
36010
100
12912
33280
83441
19238
88572
87227
47878
32688
7156
51114
29210
3537
9253
12538
10454
1196
9212
41392
1201
33964
52421
55697
81583
11916
37944
37385
12950
53524
53804
37386
89512
91133
25338
58732
25361
37874
1480
58736
90783
54972
91413
90955
7738
53174
37932
49605
29397
78984
61614
41082
90952
37176
48694
4393
61395
8684
91432
53279
55535
63114
35000
33512
50066

82953
1172
759
85944
6081
15003
25354
12865
87945
2813
12826
47877
11401
55230
9795
86745
33443
56706
6076
88573
45563
21611
1317
11306
50188
27633
60328
30561
763
10523
2111
6043
57114
1176
12910
52420
11397
88456
91376
37945
56243
12256
62924
53805
13353
4399
36625
17544
58731
25248
47051
58864
54270
40826
64251
91415
6390
91666
53173
37933
41377
29396
32383
61515
61511
80598
81442
55133
30401
55889
36200
45567
91665
55536
62922
35001
31921
19215

Klubb

Trosa BS

Ljungsbro BK

Ryds BK

Filbyter Bridge
Almhults BK

Amals BS - Karlstads BK
Rotebro BS

Vastra Bjare BK - Lidingd BK
Trosa BS

Stigtomta BK
Solstabridgen

Trosa BS

SEB Bridge - Vaddo BK
Filbyter Bridge
Solstabridgen

Almhults BK

BK S:t Erik - Alvik BC
Filbyter Bridge
Almhults BK

Trosa BS

Filbyter Bridge

Trosa BS

Filbyter Bridge
Hammar6 BK - Solstabridgen
Filbyter Bridge
Skanninge BK - Filbyter Bridge
Solstabridgen
Almhults BK

Almhults BK - Ryds BK
Solstabridgen

Filbyter Bridge

Filbyter Bridge

BK ALERT

Filbyter Bridge
Solstabridgen

BK ALERT

Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

BK ALERT - BK S:t Erik
Solstabridgen

Trosa BS

Trosa BS

BK ALERT

Trosa BS - Gnesta BK
Filbyter Bridge

Trosa BS

Trosa BS

BK ALERT

BK ALERT - Norrorts Bridge
Filbyter Bridge

Trosa BS

Trosa BS

BK ALERT

Filbyter Bridge
Solstabridgen
Solstabridgen

Trosa BS

Filbyter Bridge

BK ALERT

Filbyter Bridge

Filbyter Bridge
Almhults BK

Almhults BK

Filbyter Bridge

Trosa BS

Filbyter Bridge

Trosa BS

BK S:t Erik

Norrorts Bridge
Filbyter Bridge
Solstabridgen
Almhults BK

Trosa BS

Filbyter Bridge
Almhults BK
Solstabridgen
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1 4 D1087 Basta kontrakt 2 4 EK85 Basta kontrakt 3 4104 Basta kontrakt
Nord v73 54 N =450 Ost v Kn6 3NT S =600 Syd v Kn543 2v S =110
Ingen + E1074 NS + KKn8 ov +43
#EKn8 & ¢ v & NT #KKn106 & ¢ v & NT #D10932 & ¢ v & NT
4652 443 N5 117 1110 4 DKn742 41063 N9 108 7 9 49652 « KD8 N57 877
v EK1052 v96 S 5 117 1110 vD10 v K9754 S 9 108 7 9 v- v K10976 S57877
+5 ¢ Kn82 082613 462 ¢+ D53 03246 3 + K109 ¢ DKn6 085466
#KD97 #1065432 V 8 2 6 1 3 #E875 D3 V32463 &#EKn8654 #K7 V75466
& EKKn9 49 4 EKn73
v DKn84 v E832 v ED82
+ KD963 + E10974 ¢ E8752
»- %942 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
E1 E13 64 N= &6 980 740 00| A2 A4 3NN+2 v7 660 73.0 10| B2 B1l 2v O-3 +¢A 300 70.0 4.0
A2 A4 44 N+2 w5 480 69.0 50|D10 D5 3NN+2 v5 660 73.0 10| E2 E14 2NO-3 43 300 70.0 4.0
E6 E24 44 N+2 &5 480 69.0 50| E3 E18 3NN+1 v4 630 67.0 7.0| D7 D12 2NO-3 v2 300 70.0 4.0
E22 E5 44 N+2 &5 480 69.0 50| C8 Ci14 3NN+1 v4 630 670 70| A9 Al 3NO-3 +¢2 300 70.0 4.0
E25 E23 44 N+2 ¢9 480 69.0 50|Al10 A5 3NN+1 v4 630 67.0 7.0|E11 E20 2vV-3 «A 300 70.0 4.0
B2 B1ll 44 S+1 vA 450 48.0 26.0 | E11 E21 3NN+1 ¥9 630 670 70| C1 C8 2NO-2 «7 200 61.0 13.0
E3 E18 44 N+1 #3 450 48.0 26.0( E1 E13 3NN= v5 600 57.0 17.0| D4 D11 3NO-2 +¢5 200 61.0 13.0
C4 C6 44 N+1 99 450 48.0 26.0| E6 E24 3NN-= 46 600 57.0 170 B9 Bl 3NO-2 ¢4 200 61.0 13.0
D4 D2 44 S+1 vA 450 48.0 26.0( C9 C10 3NS= «Q 600 57.0 17.0| C9 C14 3NO-2 +2 200 61.0 13.0
A7 A8 44 S+1 ¢5 450 48.0 26.0(C12 C7 3NN= v7 600 57.0 170 C5 C7 2v N+2 &K 170 56.0 18.0
B7 B12 54 N= v9 450 48.0 26.0 | E16 E2 3NN= «T 600 57.0 17.0| D3 D10 2v S= 46 110 51.0 23.0
E7 E12 44 S+1 vA 450 48.0 26.0 | E22 E5 3NN= v4 600 57.0 17.0| B7 B12 2¢ S+1 49 110 51.0 23.0
B8 B6 54 N= &T 450 48.0 26.0( B2 Bll 44DV-3 vJ 500 50.0 24.0| E7 E25 1v S+1 &A 110 51.0 23.0
C8 Cl14 44 S+1 vA 450 48.0 26.0( B7 B12 INN+4 v5 210 47.0 27.0[A10 A5 24 S= «A 110 51.0 23.0
E8 E15 44 S+1 vA 450 48.0 26.0( D18 D7 INN+4 ¥4 210 47.0 270 A2 A4 3#V-1 ¢4 100 42.0 32.0
A9 Al 44 S+1 vA 450 48.0 26.0( C3 Cl11 2NN+1 ¥4 150 43.0 31.0({C10 C11 INO-1 +2 100 42.0 32.0
B9 Bl 44 N+1 v9 450 48.0 260 C4 C6 INN+2 ¥4 150 43.0 31.0(C13 C2 INV-1 +4 100 42.0 32.0
E11 E21 44 N+1 6 450 48.0 26.0 | E10 E19 24 N+2 ¥4 130 39.0 350(D14 D8 3NO-1 +2 100 42.0 32.0
Cl2 C7 44 N+1 6 450 48.0 26.0 (D12 D3 44 S= 42 130 39.0 35.0(E24 E22 1v O-1 +A 100 42.0 32.0
D15 D16 44 N+1 v9 450 48.0 260 C2 C5 2NN= v7 120 35.0 39.0| E4 E19 24 S= *A 90 36.0 38.0
E16 E2 44 N+1 9 450 48.0 26.0| E8 E15 INN+1 ¥4 120 35.0 39.0( B4 B3 1a S= *A 80 32.0 42.0
D18 D7 44 N+1 v6 450 48.0 26.0( D4 D2 3# N-= v5 110 30.0 440| C4 Cl12 1a S= +9 80 32.0 42.0
C2 C5 44 N= v9 420 26.0 480 B9 Bl 3¢ S= «Q 110 30.0 440 E17 E3 14 S= *A 80 32.0 42.0
B4 B3 44 S= vA 420 26.0 480 E20 E4 34 N= v7 110 30.0 440 E1 E12 2¢ S-1 45 -50 23.0 51.0
D6 D9 44 N= v9 420 26.0 48.0|C13 Cl1 INN= v5 90 25.0 490 B8 B6 2NS-1 #4 -50 23.0 51.0
D12 D3 44 N= v9 420 26.0 48.0| D15 D16 INN= v5 90 25.0 49.0|D15 D5 2¢ S-1 #A -50 23.0 51.0
E20 E4 44 S= vA 420 26.0 480 A3 A6 14 N= *Q 80 22.0 52.0 | E18 E10 3¢ S-1 #4 -50 23.0 51.0
A10 A5 5¢ S= «A 400 18.0 56.0| B4 B3 24 V-1 vJ 50 18.0 56.0 | E21 E5 3v N-1 4K -50 23.0 51.0
D13 D1 5¢ S= 42 400 18.0 56.0| B8 B6 24 V-1 vJ 50 18.0 56.0 | E23 E6 2¢ S-1 #A -50 23.0 51.0
E17 E9 5¢ S= vA 400 18.0 56.0 A9 Al 24 V-1 &T 50 18.0 56.0 E8 E13 1INO= ¢ A -90 16.0 58.0
D10 D5 34 N+3 #3 230 14.0 60.0 (D11 D14 3NN-1 +¥5 -100 13.0 61.0| A3 A6 2¢ S-2 #A -100 14.0 60.0
E10 E19 4¢ N+1 43 150 12.0 62.0 | E17 E9 3NN-1 v4 -100 13.0 61.0| C3 C6 2NO= a7 -120 10.0 64.0
B10 B5 3¢ S+1 vA 130 10.0 640 D6 D9 3NN-2 ¥5 2000 6.0 68.0| D6 D2 2NO= 2 -120 10.0 64.0
A3 A6 4&V-1 +A 50 8.0 66.0| A7 A8 INN-2 ¥5 -200 6.0 68.0|D13 D16 2NO = 43 -120 10.0 64.0
C9 C10 5¢ S-1 vA -50 4.0 70.0| E7 E12 4v N-2 3 200 6.0 68.0| D1 D18 3¢ S-3 #A -150 6.0 68.0
D11 D14 64 N-1 v9 -50 4.0 70.0(D13 D1 4¢ N-2 v7 200 6.0 68.0| E9 E16 24 S-4 &A -200 4.0 70.0
Cl13 C1 5¢ S-1 ¢K -50 4.0 70.0|E25 E23 3¢ S-2 vJ -200 6.0 68.0|B10 B5 4vDN-3 #K -500 2.0 72.0
C3 Cl11 44 N-2 ¥9 -100 0.0 74.0|B10 B5 3NN-3 ¢5 -300 0.0 74.0| A7 A8 4vyDS-4 #A -800 0.0 74.0
- D8 324 - D8 324 - D9 33.3
4 4 K53 Basta kontrakt 5 43 Basta kontrakt 6 a74 Basta kontrakt
Vast v98 4v N =620 Nord v ED1086543 ANTOD-2300 |Ost v 10942 INT O =-90
Alla + ED92 NS 4103 ov + E862
#K1065 & ¢ v & NT #95 & ¢ v & NT #1043 & ¢ v & NT
4109876 «EDKn4 N 1110106 8 « KD97 442 N6 4 107 5 & K532 « D109 N7 6 6 6 6
vD105 vKn64 S 1010105 8 vKn v K97 S 6 4 107 5 v Kn87 v EK63 S7 7666
+ KKn106 ¢ 43 0233765 ¢ 874 ¢EKDKN95 O 6 8 3 6 8 ¢ DKn105 73 056777
*9 #Kn432 V23375 #Kn10843 #72 V68 36 8 #8386 #E972 V56777
a2 4 EKn10865 » EKn86
v EK732 v2 v D5
4875 462 + K94
#ED87 *«EKD6 #KDKn5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
D4 D11 3NN+2 «J 660 740 O0.0|Al0 A6 5¢DO-4 #A 800 740 00| E1 E25 2NO-3 &K 300 74.0 0.0
Al10 A6 3NN+1 &«A 630 710 3.0 Bl B7 4vy N= ¢A 620 56.0 180 C2 C9 2v O-2 &K 200 66.0 8.0
Cl10 C11 3NN+1 &4 630 710 3.0| E1 E25 4v N= ¢A 620 56.0 18.0| A3 A5 24 V-2 &T 200 66.0 8.0
Bl B7 4v S= «T 620 68.0 6.0 D2 D7 4v N= ¢A 620 56.0 18.0| E5 E20 2v O-2 &K 200 66.0 8.0
D1 D18 3NN= aJ 600 59.0 150 A3 A5 4v N= ¢A 620 56.0 18.0 (D11 D6 INV-2 2 200 66.0 8.0
D3 D10 3NN= «A 600 59.0 150 D3 D14 4v N= ¢A 620 56.0 18.0|C13 C3 2v O-2 &K 200 66.0 8.0
C4 C12 3NN= 4 600 59.0 150 A4 A7 4vy N= ¢A 620 56.0 18.0| D16 D1 2¢ O-2 &K 200 66.0 8.0
E4 E19 3NN= &3 600 59.0 150 D4 D9 4v N= ¢A 620 56.0 18.0(E22 E6 2v O-2 &J 200 66.0 8.0
C5 C7 3NN= 4 600 59.0 150 C6 C8 4v N= ¢A 620 56.0 18.0| D3 D14 INS+1 &6 120 54.0 20.0
E7 E25 3NN= 4 600 59.0 15.0( B8 B12 4v N= ¢A 620 56.0 18.0| B8 B12 INS+l1 ¢Q 120 54.0 20.0
A9 A2 3NN= v6 600 59.0 150 E8 E12 4v N= ¢A 620 56.0 180 B9 B2 INS+1 +Q 120 54.0 20.0
D15 D5 3NN= A 600 59.0 150 A9 A2 4v N= ¢A 620 56.0 18.0|C14 C10 INS+1 +Q 120 54.0 20.0
A3 A5 1lv S+3 46 170 48.0 26.0 | E10 E17 4v N= ¢A 620 56.0 18.0| E18 E4 INS+1 42 120 54.0 20.0
C3 C6 3#N+3 #4A 170 48.0 26.0 (D11 D6 4v N= 42 620 56.0 18.0| E2 E13 2¢v O-1 «K 100 43.0 31.0
E18 E10 2v S+2 &9 170 48.0 26.0({C13 C3 4v N= ¢A 620 56.0 18.0| C6 C8 2v O-1 #K 100 43.0 31.0
E1 E12 2NN+1 &7 150 44.0 30.0 (D16 D1 4v N= ¢A 620 56.0 18.0| A9 A2 24 V-1 47 100 43.0 31.0
D13 D16 1v S+2 #9 140 42.0 32.0 | E23 E21 4v N= ¢A 620 56.0 18.0| E9 E14 INO-1 «K 100 43.0 31.0
E8 E13 44 N= A 130 38.0 36.0( E24 E7 4v N= ¢A 620 56.0 18.0| A10 A6 INO-1 &K 100 43.0 31.0
E11 E20 24 N+2 «A 130 38.0 36.0f B9 B2 5¢DO-3 #K 500 36.0 38.0(D13 D5 2v V-1 «#K 100 43.0 31.0
Cl13 C2 24S+2 T 130 38.0 36.0(C14 C10 5¢DO-3 #A 500 36.0 38.0( B3 B1ll INS= +Q 90 33.0 41.0
B8 B12 2N N= «Q 120 34.0 400(E18 E4 5¢DO-3 v2 500 36.0 380 D4 D9 INS= *T 90 33.0 41.0
Cl C8 2vS= 9 110 28.0 46.0| B3 Bll 4¢DO-2 v2 300 32.0 42.0(C11 C12 INS= 8 90 33.0 41.0
B9 B2 3&N-= ¢4 110 28.0 46.0| D18 D10 5¢ O-4 &A 200 30.0 440 E23 E21 INS= +Q 90 33.0 41.0
E21 E5 24N+1 v4 110 28.0 46.0|Cl11 C12 3vy N+1 ¢A 170 28.0 460 A4 A7 INS-1 v7 -50 24.0 50.0
E23 E6 24S+1 +6 110 28.0 46.0| B5 B4 3NDO-1 #A 100 26.0 480| B5 B4 INS-1 +¢Q -50 24.0 50.0
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E24 E22 1lv S+1 6 110 28.0 46.0| E3 E15 4¢ O-1 #A 50 24.0 50.0| E8 E12 14 S-1 +Q -50 24.0 50.0
B3 Bll 24 V-1 &6 100 22.0 52.0| C4 C7 4vy N-1 +A -100 18.0 56.0| D18 D10 INS-1 %6 -50 24.0 50.0
B5 B4 3NN-1 vJ -100 16.0 58.0| E5 E20 5v N-1 +¢A -100 18.0 56.0| E24 E7 2#S-1 vJ -50 24.0 50.0
A8 Al 3NN-1 46 -100 16.0 58.0| D13 D5 4v S-1 +A -100 18.0 56.0 | E10 E17 INO= *K -90 18.0 56.0
C9 Ci14 3NN-1 v4 -100 16.0 58.0 | E19 E11 4v N-1 +A -100 18.0 56.0| E3 E15 24 S-2 +¢Q -100 15.0 59.0
D14 D8 3NN-1 44 -100 16.0 58.0| E22 E6 4v N-1 +¢A -100 18.0 56.0| E19 E11 14 S-2 vJ -100 15.0 59.0
E17 E3 3#S-1 a7 -100 16.0 58.0| C2 C9 34 S-2 vJ -200 9.0 65.0| D8 D15 24 V= 2 -110 12.0 62.0
D6 D2 24 O= ©vA -110 10.0 640| C5 C1 44 S-2 +38 200 9.0 65.0| C5 C1 INV+1l a7 -120 10.0 64.0
E2 E14 2v S-2 &9 200 6.0 68.0| A8 Al 4vyDN-1 +A 200 9.0 65.0| Bl B7 24 V+1 T -140 8.0 66.0
A4 A7 3NN-2 44 -200 6.0 68.0| E9 E14 5v N-2 +A -200 9.0 65.0| D2 D7 3NN-3 46 -150 3.0 71.0
B10 B6 3 N-2 4A -200 6.0 68.0| E2 E13 44 S-3 +8 -300 3.0 71.0| C4 C7 3#N-3 49 -150 3.0 71.0
D7 D12 54 N-3 ¢3 -300 1.0 73.0|/B10 B6 34 N-3 +¢38 -300 3.0 71.0| A8 Al 24S-3 +Q -150 3.0 71.0
E9 E16 3#S-3 +¢6 -300 1.0 73.0| D8 D15 44 S-5 &T -500 0.0 740|B10 B6 INV+2 +A -150 3.0 71.0

- D9 33.3| D12 - 34.8 D12 - 34.8
7 4 KD762 Basta kontrakt 8 452 Basta kontrakt 9 aE72 Basta kontrakt
Syd v43 5¢ V D -2 500 Vast vE54 54 N =450 Nord v Kn93 24 O =-110

Alla + 1093 Ingen ¢ EKn62 ov + EK653

#K84 & ¢ v & NT #8763 & ¢ v & NT #385 & ¢ v & NT
a4 4983 N5 48 107 49 4 KKn10 N 458 117 4KKn103 4964 N6 5445
v 107 v KKn96 S 54 8 107 v8762 v109 S 458 117 vEK10762 v4 S65445
¢ EKD85 ¢ Kn642 079 436 ¢+ D1054 ¢ K987 088225 +D9 ¢ Kn1072 06 7887
#ED952 #107 V79436 #EKD5 #Kn1092 V88225 *2 #ED743 V678287

# EKn105 « ED87643 « D85

v ED852 v KDKn3 v D85

.7 +3 + 84

#Kn63 *4 #KKn1096

Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
A9 A3 44 N= ¢+J 620 720 20| A4 A6 24DS+2 #A 670 740 00| B2 B8 3vDV-2 ¢A 500 73.0 1.0
C13 C4 44 N= ¢4 620 720 20| Bl B12 44 S+1 &A 450 61.0 13.0| D2 D1 34DV-2 ¢A 500 73.0 1.0
D15 D9 44 N= ¢+J 620 720 20| E1 E24 44 S+1 #&A 450 61.0 13.0| A1 A2 3vDV-1 #8 200 68.0 6.0
B6 B5 5¢DV-2 v4 500 67.0 7.0| D2 D18 44 S+1 &A 450 61.0 13.0| E2 E25 2v V-2 ¢A 200 68.0 6.0
B9 B3 5¢DV-2 v4 500 67.0 7.0| E2 E12 44 S+1 A 450 61.0 13.0| A9 A3 2vV-2 +A 200 68.0 6.0
Bl B12 3#V-3 v4 300 63.0 11.0| E3 E14 44 S+1 &A 450 61.0 13.0 E21 E19 2NN= vA 120 64.0 10.0
D6 D12 5¢ V-3 v3 300 63.0 11.0| C5 C8 44 S+1 &A 450 61.0 13.0| B1 B12 2vV-1 ¢K 100 58.0 16.0
El E24 34 N+2 &7 200 56.0 180| B6 B5 44 S+1 &#A 450 61.0 13.0| E5 E17 2+ V-1 ¢A 100 58.0 16.0
B2 B8 2NV-2 v4 200 56.0 180 A9 A3 44 S+1 &A 450 61.0 13.0| E7 E22 2¢vV-1 ¢A 100 58.0 16.0
Cl2 C1 5¢V-2 v3 200 56.0 18.0|B11 B4 44 S+1 &A 450 61.0 13.0| D8 D5 2vV-1 ¢K 100 58.0 16.0
D13 D8 5¢ V-2 ¢3 200 56.0 18.0 | C14 C11 44 S+1 &#A 450 61.0 13.0|B11 B4 2v O-1 ¢A 100 58.0 16.0
Cl4 Cl11 34 N+2 ¢J 200 56.0 18.0 | D15 D9 44 S+1 #Q 450 61.0 13.0|E23 E1 24 N-2 v4 -100 52.0 22.0
A10 A7 34 N+1 &T 170 48.0 26.0 | E23 E7 44 S+1 &A 450 61.0 13.0| E3 E13 2v V= ¢ A -110 44.0 30.0
E10 E15 34 N+1 ¢4 170 48.0 26.0| A5 A8 44 S= «A 420 46.0 28.0| E4 E15 2v V= +K -110 44.0 30.0
D11 D7 24 N+2 &7 170 48.0 26.0| E9 E13 44 S= &A 420 46.0 28.0| C8 C10 2v V= ¢ A -110 44.0 30.0
D1 D14 34 N= +J 140 42.0 320|E19 E5 44 S= «A 420 46.0 28.0 | E11 E16 2v V= ¢ A -110 44.0 30.0
C7 C9 34 S= ¢A 140 42.0 320 A1l A2 34 S+2 &#A 200 30.0 440 |C12 C14 2v V= ¢ A -110 44.0 30.0
B10 B7 34 S= ¢A 140 42.0 320 D1 D14 34 S+2 &#A 200 30.0 440|E12 E9 2v V= ¢ A -110 44.0 30.0
Al A2 3¢ V-1 v4 100 34.0 400 D3 D4 34 S+2 &#A 200 30.0 440|E20 E6 2v V= ¢ A -110 44.0 30.0
E3 E14 3¢ V-1 v4 100 340 400 C6 C2 24 S+3 &#A 200 30.0 440 A4 A6 2v V+1l +A -140 22.0 52.0
A4 A6 5¢ V-1 v2 100 34.0 400 D6 D12 34 S+2 &#A 200 30.0 440 C4 C11 2vy V+1 +A -140 22.0 52.0
A5 A8 5¢ V-1 #4 100 34.0 400 E6 E21 24 S+3 &#A 200 30.0 440 A5 A8 2v V+l1 +A -140 22.0 52.0
E9 E13 4¢ V-1 v4 100 340 400 C7 C9 24 S+3 &#A 200 30.0 440 C6 C9 2v V+1l +A -140 22.0 52.0
Bll B4 2¢ V= v4 -90 28.0 46.0( A10 A7 34 S+2 &#A 200 30.0 440 D6 D3 2y V+1 &5 -140 22.0 52.0
D2 D18 44 S-1 +¢A -100 22.0 52.0|B10 B7 24 S+3 #A 200 30.0 440 C7 C3 2v V+l +A -140 22.0 52.0
D3 D4 44 N-1 &T -100 22.0 52.0|D11 D7 34 S+2 &#A 200 30.0 440| D7 D10 3v V= ¢ A -140 22.0 52.0
E4 E16 44 N-1 &7 -100 22.0 52.0|C12 C1 34 S+2 #Q 200 30.0 440 A10 A7 2v V+1 +A -140 22.0 52.0
E22 E20 44 S-1 &7 -100 22.0 52.0|D13 D8 34 S+2 #A 200 30.0 44.0|B10 B7 3v V= ¢ A -140 22.0 52.0
E23 E7 44 S-1 +¢A -100 22.0 52.0| E25 E8 34 S+2 &A 200 30.0 44.0| D11 D18 3v V= ¢ A -140 22.0 52.0
C3 C10 2¢ V+1 w4 -110 11.0 63.0| B2 B8 34 S+1 &A 170 8.0 66.0|C13 C5 2v V+1 +A -140 22.0 52.0
C5 C8 3¢ V= v4 -110 11.0 63.0| C3 C10 34 S+1 #A 170 8.0 66.0| D13 D9 3v V= ¢ A -140 22.0 52.0
C6 C2 3¢ V= v4 -110 11.0 63.0| E4 E16 24 S+2 &A 170 8.0 66.0| D15 D12 3v V= &5 -140 22.0 52.0
E6 E21 2¢ V+1 v4 -110 11.0 63.0| D5 D16 24 S+2 &A 170 8.0 66.0| D16 D4 2v V+1 +¢K -140 22.0 52.0
E11 E18 2¢ V+1 v4 -110 11.0 63.0| B9 B3 34 S+1 &A 170 8.0 66.0 E24 E8 2v V+1 +¢A -140 22.0 52.0
E25 E8 3¢ V= v3 -110 11.0 63.0| E10 E15 34 S+1 #A 170 8.0 66.0] C1 C2 3¢ N-3 v4 -150 4.0 70.0
E19 E5 3¢ O+1 vA -130 4.0 70.0| E11 E18 24 S+2 #A 170 8.0 66.0] B9 B3 2NS-3 ¥vA -150 4.0 70.0
D5 D16 54 N-3 #T -300 2.0 72.0|C13 C4 34 S+1 #A 170 8.0 66.0 | E1I0 E14 3NS-3 ¥vA -150 4.0 70.0
E2 E12 3¢DO= ¢7 -670 0.0 74.0|E22 E20 14 S+3 #A 170 8.0 66.0| B6 B5 3¢DN-3 v4 -500 0.0 74.0
D10 - 41.0 D10 - 41.0 - D14 34.6
10 4 D107 Basta kontrakt 11 4 KD954 Basta kontrakt 12 & EKn Basta kontrakt
Ost vE102 24 O =-110 Syd vE73 44 V D -1 100 Vast v ED9642 74 O D -8 2000

Alla +1043 Ingen +D2 NS 41053

#K1085 & ¢ v & NT *K72 & ¢ v & NT »D7 & ¢ v & NT
4 E943 4Kn65 N65655 4 Kn62 410 N46596 4 D92 48754 N 3 13107 7
v753 vKD9 S65655 v 964 v DKn85 S 45586 v KKn87 v5 S 3 13107 7
¢E75 #KKn96 078787 ¢ KKn7 ¢ E964 097746 ¢- ¢ KKn4 090250
%432 #E9%6 V787287 #Kn1094 #ED65 V97746 #KKn9853 #E10642 V90360

& K82 « E873 # K1063

v Kn864 v K102 v 103

+ D82 410853 + ED98762

#DKn7 %83 *-

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Cl C2 24V-2 vA 200 720 20| E1 E22 24 N+2 ¢A 170 67.0 7.0|D11 D1 5¢DS+2 42 1150 740 0.0
A2 A3 2¢ O-2 42 200 720 20| D3 D7 24 N+2 &5 170 670 7.0| B7 B6 4v N+1 48 650 720 2.0
A9 A4 24 O-2 #»Q 200 720 20| A5 A7 24 N+2 &5 170 67.0 7.0| E1 E22 4v N= *A 620 67.0 7.0
D2 D1 2NO-1 48 100 55.0 19.0| C5 C12 24 N+2 v5 170 67.0 7.0| C5 C12 4v N= ¢4 620 67.0 7.0
E2 E25 INV-1 &8 100 55.0 19.0| D5 D6 24 N+2 #Q 170 67.0 7.0/ D5 D6 4v N= ¢+J 620 67.0 7.0
E3 E13 INO-1 #Q 100 55.0 19.0| B7 B6 34 N+1 vJ 170 67.0 7.0|E19 E17 5¢ S+1 42 620 67.0 7.0
C4 Ci11 INO-1 v4 100 55.0 19.0| E8 E23 34 N+1 #A 170 67.0 7.0|B11 B5 5¢ S= «2 600 62.0 12.0
A5 A7 INV-1 «#5 100 55.0 19.0 | E13 E10 34 N+1 #A 170 67.0 7.0| A2 A3 54DV-2 ¢5 300 60.0 14.0
E5 E17 INV-1 &5 100 55.0 19.0| A2 A3 24 N+1 ¢A 140 450 29.0| C9 C11 3y N+1 &«A 170 58.0 16.0
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A6 Al INO-1 v4 100 55.0 19.0( B3 Bl 24 S+1 vQ 140 450 29.0( A9 A4 3¢ S+2 #3 150 56.0 18.0
B7 B6 24 V-1 v2 100 55.0 19.0( E3 E12 24 N+1 vQ 140 450 29.0( E3 E12 2¢v N+1 &A 140 52.0 22.0
C7 C3 24V-1 &8 100 55.0 19.0( E5 E16 24 N+1 ¢A 140 45.0 29.0( E5 E16 3v N= «A 140 52.0 22.0
E7 E22 1¢ O-1 48 100 55.0 19.0( A6 Al 24 N+1 ¥5 140 45.0 29.0 (D13 D12 3v N= A 140 52.0 22.0
A10 A8 INO-1 v4 100 55.0 19.0( C8 C4 24 N+1 vQ 140 450 29.0(E24 E2 2v N= «A 110 48.0 26.0
E10 E14 2¢ O-1 &7 100 55.0 19.0( A9 A4 24 N+1 v6 140 450 29.0 | E13 E10 5#V-2 «A 100 45.0 29.0
B12 B2 2NO-1 8 100 55.0 19.0( C9 Cl11 24 N+1 &6 140 450 29.0(D16 D2 5#40-2 T 100 45.0 29.0
E21 E19 INO-1 #Q 100 55.0 19.0| D9 D8 24 N+1 5 140 45.0 29.0( A5 A7 44V-1 ¢3 50 38.0 36.0
E12 E9 1¢ O= #Q -70 40.0 340(B10 B8 24 N+1 vQ 140 450 29.0| E6 E18 44 V-1 T 50 38.0 36.0
B3 Bl INO= v4 -90 24.0 50.0(B11 B5 24 N+1 vQ 140 45.0 29.0 [ A10 A8 44 V-1 &A 50 38.0 36.0
E4 E15 INO= v4 -90 24.0 50.0( D11 D1 34 N= «A 140 450 29.0(B10 B8 5# V-1 vA 50 38.0 36.0
D6 D3 INO= v4 -90 24.0 50.0(B12 B2 34 N= vQ 140 450 29.0(E21 E7 54V-1 &A 50 38.0 36.0
C8 C10 INO= v6 -90 24.0 50.0 (D15 D10 24 N+1 ¢A 140 45.0 29.0( D3 D7 3vy N-1 #A -100 26.0 48.0
D8 D5 INV= a7 -90 24.0 50.0| E6 E18 24 N= v8 110 28.0 46.0| A6 Al 4v N-1 #A -100 26.0 48.0
B9 B4 INV= &5 90 24.0 500 B9 B4 24 N= vQ 110 28.0 46.0| B9 B4 4vy N-1 &A -100 26.0 48.0
B10 B8 INO= *0Q -90 24.0 50.0 | E11 E15 24 N= v8 110 28.0 46.0| D9 D8 4v N-1 42 -100 26.0 48.0
D11 D18 1INV = &5 -90 24.0 50.0(D16 D2 4vy O-2 &A 100 24.0 50.0 | D15 D10 4v N-1 #A -100 26.0 48.0
E11 E16 INO= v6 -90 24.0 500 C7 C10 3 V-1 49 50 21.0 53.0| D18 D14 4v N-1 &A -100 26.0 48.0
Cl2 C14 INO= v4 -90 24.0 50.0 (D18 D14 3# V-1 &K 50 21.0 53.0|E25 E9 4v N-1 #A -100 26.0 48.0
C13 C5 INO= *Q 90 24.0 50.0( C1 C14 44 N-1 T -50 12.0 62.0| E4 E14 44 V= *T -130 14.0 60.0
D13 D9 INV= 8 90 24.0 500 C2 C3 44 N-1 #A -50 12.0 62.0| C7 C10 34 V+1 A -130 14.0 60.0
D15 D12 INO= &J -90 24.0 50.0  A10 A8 34 N-1 T -50 12.0 620 C8 C4 44V= s A -130 14.0 60.0
D16 D4 INO= v4 -90 24.0 50.0(C13 C6 24 N-1 T -50 12.0 62.0 | E11 E15 44 V= vA -130 14.0 60.0
E24 E8 INO= v4 -90 24.0 50.0 (D13 D12 34 N-1 vQ -50 120 62.0(Cl13 C6 4& V= +5 -130 14.0 60.0
C6 C9 INO+1 vé6 -120 5.0 69.0|E21 E7 34 N-1 vQ -50 12.0 620 C1 Cl14 5vy N-2 #A -200 6.0 68.0
B1l B5 INO+l1 v4 -120 5.0 69.0|E25 E9 44 N-1 ¢5 -50 12.0 62.0( E8 E23 5vDN-1 #A -200 6.0 68.0
E20 E6 INO+1 v4 -120 5.0 69.0| E4 E14 34 V= a4 -110 4.0 70.0|B12 B2 4vyDN-1 #A -200 6.0 68.0
E23 E1 INO+1 v4 -120 5.0 69.0| E19 E17 4& V= 4K -130 1.0 73.0|] C2 C3 3NV= +3 -400 2.0 72.0
D7 D10 INO+2 ¥4 -150 0.0 740|E24 E2 3&#V+1l ©vA -130 1.0 73.0| B3 Bl 5vDN-2 #A -500 0.0 74.0
- D14 34.6 - D4 454 - D4 454
13 oK Basta kontrakt 14 495 Basta kontrakt 15 410972 Basta kontrakt
Nord v K52 3NT N =600 Ost v Kn92 44 O =-420 Syd v EKn875 44 S =620
Alla + EDKNn10863 Ingen *4 NS +5
*97 & ¢ v & NT #EK109843 & ¢ v & NT #KKn5 & ¢ v & NT
4 86 4D107432 N 7 106 7 9 « KKn83 & E10642 N8 4526 4 K53 464 N6 7 9 108
vDKn1098 v43 S 7 106 7 9 vED75 v64 S 84526 v 643 v K102 S 7 8 10108
+5 ¢ K97 06 376 3 ¢ DKn ¢ K10852 04 9 7 105 +D3 ¢ K8764 06 5324
*«ED864 £102 V63763 #Kn52 %6 vV 4 9 7 105 #E10762 #984 V65324
& EKn95 4 D7 « EDKn8
vE76 v K1083 vD9
¢ 42 + E9763 + EKn1092
#KKn53 «D7 D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
E12 E10 3NS+2 &8 660 740 00| D1 D4 3«DN= v4 470 740 0.0| E1 E19 44 S+1 #A 650 73.0 1.0
E2 E23 3NS+1 v6 630 63.0 11.0|C14 C2 INN+2 46 150 720 20| E2 E21 44 N+1 #A 650 73.0 1.0
D3 D18 3NS+1 vQ 630 63.0 11.0( D2 D5 4# N-= v6 130 69.0 50| Al Al10 44 S= A 620 56.0 18.0
B4 B2 3NS+1 vQ 630 63.0 11.0| E7 E19 3« N+1 #A 130 69.0 50| Bl B10 44 S= *A 620 56.0 18.0
E5 E15 3NS+1 vQ 630 63.0 11.0| C3 C4 3#N= v6 110 62.0 12.0| D3 D1 44 S= v4 620 56.0 18.0
B8 B7 3NS+1 vQ 630 63.0 11.0| E6 E17 3# N= v6 110 62.0 120 B4 B2 44 S= v6 620 56.0 18.0
D8 D7 3NS+1 vQ 630 63.0 11.0 C8 C11 3# N-= «A 110 62.0 120 C4 C5 44 S= *A 620 56.0 18.0
A9 A5 3NN+1 42 630 63.0 11.0| A9 A5 3#N= ¢2 110 62.0 12.0| A6 A8 44 S= A 620 56.0 18.0
D10 D13 3NS+1 vQ 630 63.0 11.0 (D15 D14 3# N= «A 110 62.0 12.0| E6 E16 44 S= A 620 56.0 18.0
D12 D9 3NS+1 ¥8 630 63.0 11.0| B1 B10 34 O-2 #Q 100 56.0 18.0( B8 B7 44 S= 43 620 56.0 18.0
E18 E16 3NS+1 v8 630 63.0 11.0| E2 E23 54 O-1 #Q 50 54.0 20.0| E8 E20 44 S= 2 620 56.0 18.0
Al A10 3NS= vQ 600 45.0 29.0( D3 D18 4# N-1 &A -50 49.0 25.0( B9 B5 44 S= 43 620 56.0 18.0
Bl B10 3NS= vQ 600 450 29.0( B4 B2 44 N-1 A -50 49.0 25.0 C9 C12 44 S= +Q 620 56.0 18.0
E6 E17 3NS= vQ 600 450 29.0(C13 C7 3#N-1 v4 -50 49.0 25.0(C10 C6 44 S= &7 620 56.0 18.0
B1l B6 3NN-= v4 600 45.0 29.0 [ E14 E11 3# N-1 &A -50 49.0 25.0 | E13 E11 44 S= A 620 56.0 18.0
D11 D16 3NS= vQ 600 450 29.0( E1 E20 44 N-2 A -100 41.0 33.0| D14 D13 44 S= *A 620 56.0 18.0
C13 C7 3NS= v8 600 45.0 29.0( A6 A8 3#4DN-1 v6 -100 41.0 33.0|D16 D6 44 S= +3 620 56.0 18.0
Cl4 C2 3NS= v8 600 45.0 29.0( A7 A2 3#4DN-1 v6 -100 41.0 33.0|B12 B3 3NS= 3 600 40.0 34.0
D15 D14 3NS= v8 600 45.0 29.0(B11 B6 44 N-2 A -100 41.0 33.0| A3 A4 34 S+1 &2 170 34.0 40.0
B12 B3 34 O-3 ¢4 300 36.0 38.0| E9 E24 24 O= ¢ A -110 36.0 38.0|B11 B6 24 S+2 &5 170 34.0 40.0
C3 C4 3¢ N+1 v4 130 31.0 43.0 (D10 D13 3a V= &7 -140 34.0 40.0|C14 C3 3v S+1 &7 170 34.0 40.0
A7 A2 44 N= v4 130 31.0 430 C6 C1 5#N-3 v6 -150 31.0 43.0|D15 D4 34 S+1 #9 170 34.0 40.0
C8 C11 3¢ N+1 v4 130 31.0 43.0(E12 E10 5#N-3 v6 -150 31.0 43.0| E17 E15 14 S+3 #A 170 34.0 40.0
E9 E24 3¢ N+1 &T 130 31.0 43.0( Al Al10 34 O+1 #Q -170 26.0 48.0| E3 E24 24 S+1 &A 140 27.0 47.0
E4 E13 3¢ N= &T 110 23.0 51.0| A3 A4 34 V+1l &A -170 26.0 48.0| E5 E14 24 S+1 &2 140 27.0 47.0
C10 C12 3¢ N= v3 110 23.0 51.0| E22 E8 14 O+3 A -170 26.0 48.0| E23 E9 24 S= A 110 24.0 50.0
E14 E11 2¢ N+1 v4 110 23.0 51.0| E4 E13 34 O+2 #Q -200 17.0 57.0| A7 A2 44 S-1 +Q -100 13.0 61.0
E22 E8 3¢ N= v4 110 23.0 51.0| E5 E15 24 O+3 #Q -200 17.0 57.0| C7 C2 44 S-1 &2 -100 13.0 61.0
A3 A4 2¢ N= v3 90 18.0 56.0| B9 B5 34 O+2 +¢A -200 17.0 57.0| E7 E18 44 S-1 +¢Q -100 13.0 61.0
E7 E19 5¢ N-1 42 -100 16.0 58.0| C9 C5 24 O+3 #Q -200 17.0 57.0| A9 A5 44 S-1 &2 -100 13.0 61.0
E1 E20 3NS-2 8 200 9.0 65.0|C10 C12 34 O+2 #Q -200 17.0 57.0| D9 D18 44 S-1 3 -100 13.0 61.0
D2 D5 64 N-2 v4 -200 9.0 65.0|B12 B3 24 O+3 #Q -200 17.0 57.0| D10 D12 54 S-1 #A -100 13.0 61.0
A6 A8 3NS-2 +vQ 200 9.0 65.0| D8 D7 44 O= #Q 420 9.0 65.0|Cl11 Cl1 44 S-1 ¥v6 -100 13.0 61.0
C6 Cl 3NN-2 v4 -200 9.0 65.0| D12 D9 44 V= &A -420 9.0 65.0| D11 D5 44 N-1 &9 -100 13.0 61.0
B9 B5 3NS-2 +¢Q -200 9.0 65.0| E25 E3 3NV +1 #A -430 6.0 68.0|E12 E4 44 S-1 v6 -100 13.0 61.0
E25 E3 5¢ N-2 &T 2000 9.0 65.0| B8 B7 44 O+1 +8 -450 2.0 72.0|C13 C8 44 S-1 &2 -100 13.0 61.0
D1 D4 64 N-3 &7 -300 2.0 72.0|D11 D16 54 O= #Q -450 2.0 72.0| D2 D8 64 N-2 ¢4 -200 1.0 73.0
C9 C5 5¢DN-2 v4 -500 0.0 74.0|E18 E16 54 O= #Q -450 2.0 72.0| E10 E25 4vy N-2 ¢4 -200 1.0 73.0
- D6 26.3 - D6 26.3| D7 - 31.3
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16 473 Basta kontrakt 17 4 KD8432 Basta kontrakt 18 D6 Basta kontrakt
Vast v 104 5NTV =-660 Nord v 872 5v O =-450 Ost vE97 3NT O =-400
oV + Kn1076542 Ingen + Kn8 NS + EKD6
#53 & ¢ v & NT #95 & ¢ v & NT 10982 & ¢ v & NT
aKn52 4 EK104 N25222 & Kn5 41096 N3 8273 4EKKN103 N5 4 3 6 4
vE92 v KKn76 S25222 vEK105 v9643 S38273 vDKn10542 v K6 S54364
¢+ED3 ¢K8 O 118 111111 ¢+ E9 +53 O 105 116 7 ¢ Kn1073 ¢ 852 0789729
210762 &EKn4 VvV 118 101111 #DKn862 #EK43 V 105 116 7 #KD6 #E53 V78979
« D986 ~E7 4987542
v D853 v DKn v 83
+9 + KD107642 +94
#KD98 «107 +Kn74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
D2 D8 6NO-3 9 300 720 20|B12 B4 2¢ S+2 vA 130 740 0.0|D13 D4 44 0-4 +9 200 740 0.0
D3 D1 6#0-3 ¢9 300 720 20| E2 E20 24 N= ¢A 110 710 30| C5 C6 2#S+1 vJ 110 720 2.0
A4 A5 44 O-3 ¢9 300 720 20|C13 C9 3¢ S= vA 110 710 3.0 Bl B8 4vV-2 +A 100 70.0 4.0
E17 E15 6NV-2 46 200 68.0 6.0 A2 A10 34 N-1 &A -50 54.0 20.0( B2 B10 4v V-1 +A 50 54.0 20.0
Bl12 B4 6vO-1 ¢9 100 64.0 10.0| B2 B10 34 N-1 #A -50 54.0 200 E3 E22 3¢ O-1 48 50 54.0 20.0
D14 D13 44 O-1 9 100 64.0 10.0| E3 E22 24 N-1 #A -50 54.0 200 C4 C14 4v O-1 +9 50 54.0 20.0
E23 E9 4v0-1 +9 100 64.0 100 A4 A5 3¢ S-1 ©vA -50 54.0 200 B5 B3 4v O-1 +¢9 50 54.0 20.0
A8 A3 24 O= +9 -110 60.0 14.0| E4 E25 34 N-1 #A 50 54.0 200 A7 Al 4vO-1 ¢4 50 54.0 20.0
E1 E19 2NV +1 ¢ -150 57.0 17.0| B5 B3 3¢ S-1 vA -50 54.0 200 E7 E17 4v O-1 +9 50 54.0 20.0
A2 A10 3¢ N-3 &A -150 57.0 17.0| C5 C6 34 N-1 &A -50 54.0 200 A8 A3 24 O-1 T 50 54.0 20.0
B5 B3 3¢DN-3 #A -500 54.0 20.0| D5 D7 3¢ S-1 vA -50 54.0 200 C8 C3 2NO-1 a7 50 54.0 20.0
B2 B10 3NV = a7 -600 47.0 27.0| E7 E17 3¢ S-1 vA -50 54.0 20.0| D8 D11 4v V-1 +Q 50 54.0 20.0
E6 E16 3NV = +6 -600 47.0 27.0| A8 A3 3¢ S-1 &2 -50 54.0 20.0( E8 E19 3NV-1 +A 50 54.0 20.0
E8 E20 3NO= &K -600 47.0 27.0| C8 C3 34 N-1 &A -50 54.0 20.0(C12 C2 3v(O-1 7 50 54.0 20.0
C10 C6 3NV= &5 -600 47.0 27.0| E9 E21 3¢ S-1 vA -50 54.0 20.0|D15 D6 24 O-1 3 50 54.0 20.0
D10 D12 3NV = *T -600 47.0 27.0|D13 D4 3¢ S-1 vA -50 54.0 20.0 |E16 E14 4v O-1 9 50 54.0 20.0
D11 D5 3NO= 46 -600 47.0 27.0| D15 D6 24 N-1 #A -50 54.0 20.0(E18 E1 4v V-1 +A 50 54.0 20.0
Bl B8 44 0= +9 -620 37.0 37.0| E16 E14 24 N-1 #A -50 54.0 20.0 (E24 E10 4v V-1 +A 50 54.0 20.0
E10 E25 4v O= &8 -620 37.0 37.0| D3 D16 44 N-2 &K -100 31.0 43.0( D5 D7 24 O= 49 -110 37.0 37.0
Cl4 C3 4v 0= K -620 37.0 37.0| A9 A6 44 N-2 &A -100 31.0 43.0(D12 D1 14 O+1 9 -110 37.0 37.0
D15 D4 4v O= +9 -620 37.0 37.0|B11 B7 3¢DS-1 vA -100 31.0 43.0|Cl11 C7 2NV= ¢ A -120 34.0 40.0
E2 E21 3NV +1 +¢J -630 23.0 51.0|C11 C7 34 N-2 &A -100 31.0 43.0| B9 B6 3v V= ¢+ K -140 32.0 42.0
E3 E24 3NO+1 46 -630 23.0 51.0|C12 C2 34 N-2 &A -100 31.0 43.0| E6 E15 2NO+1 4 -150 28.0 46.0
E5 E14 3NV +1 ¢ -630 23.0 51.0| D12 D1 44 N-2 &A -100 31.0 43.0] A9 A6 INV+2 +¢K -150 28.0 46.0
A7 Al 3NV+1 ¢J -630 23.0 51.0| D14 D10 44 N-2 &K -100 31.0 43.0| E9 E21 2NO+1 4 -150 28.0 46.0
E7 E18 3NV +1 7 -630 23.0 51.0| E24 E10 5¢ S-2 YA -100 31.0 43.0| A2 A10 3NV= ¢A -400 20.0 54.0
A9 A6 3NO+1 8 -630 23.0 51.0| E8 E19 44 O= aA -130 22.0 52.0| A4 A5 3NO= ¢*4 -400 20.0 54.0
C9 C12 3NO+1 &8 -630 23.0 51.0| D2 D9 44 N-3 &A -150 19.0 55.0| E4 E25 3NO= *4 -400 20.0 54.0
D9 D18 3NV+1 ¢J -630 23.0 51.0| E6 E15 3#V+2 oK -150 19.0 55.0|C10 C1 3NO= 49 -400 20.0 54.0
B11 B7 3NV+1 T -630 23.0 51.0| D8 D11 2v O+3 K -200 15.0 59.0|E13 E5 2NN-4 +vK -400 20.0 54.0
E13 E11 3NV+l1 46 -630 23.0 51.0| E11 E12 2v O+3 4A -200 15.0 59.0| D3 D16 4y O= 49 -420 13.0 61.0
C4 C5 3NO+2 #8 -660 7.0 67.0| Bl B8 4¢DS-2 vA -300 11.0 63.0|C13 C9 4v O= +9 -420 13.0 61.0
B9 B6 3NO+2 46 -660 7.0 67.0| C4 Cl14 4¢DS-2 vA -300 11.0 63.0| E11 E12 3NO+1 4 -430 10.0 64.0
Cll C1 3NV+2 +J -660 7.0 67.0| A7 Al 4vy V+1 ¢ -450 4.0 70.0| D2 D9 3NO+2 +¢9 -460 7.0 67.0
E12 E4 3NO+2 46 -660 7.0 67.0| B9 B6 4v O+1 +J -450 4.0 70.0|B11 B7 3NO+2 +¢9 -460 7.0 67.0
Cl13 C8 3NO+2 K -660 7.0 67.0|C10 Cl1 4v O+1 +¢K -450 4.0 70.0|B12 B4 2vyDV= +A -470 4.0 70.0
D16 D6 3NO+2 3 -660 7.0 67.0| E13 E5 4vy O+1 4A -450 4.0 70.0| E2 E20 3NO+3 %4 -490 2.0 72.0
C7 C2 3NO+3 &8 -690 0.0 74.0|E18 E1 4vy O+1 4A -450 4.0 70.0| D14 D10 2vyDV+1 ¢A -570 0.0 74.0
D7 - 31.3 - D18 36.5 - D18 36.5
19 4 D876 Basta kontrakt 20 a4 Basta kontrakt 21 410832 Basta kontrakt
Syd v D98 34 S =140 Vast vD1072 44 V =-620 Nord v EK75 4v O D -3 500
oV + D85 Alla + EKKNn96 NS + 984
#ED2 & ¢ v & NT »864 & ¢ v & NT *E4 & ¢ v & NT
« E53 49 N8 4596 « E108652 & KKn97 N87 6 34 aD4 4765 N87 6 99
v K65 v 10432 S84596 vEK v 9654 S776 34 vDKnl1l0 v98643 S876 909
¢ KKn64 ¢ E10732 0597 46 ¢+ 75 ¢+ D108 O55 6 109 ¢+ D72 ¢ EK105 046734
£#K65 #Kn83 V59746 #753 KD V556 109 #D9863 &7 V46734
& KKn1042 4D3 & EKKn9
v EKn7 v Kn83 v2
+9 4432 + Kn63
#10974 #EKN1092 #KKn1052
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr ut Res Poang
Cll C2 44 N= ¢2 420 740 00| Al A4 Pass 68.0 6.0 Al A4 44 S= 3 620 69.0 5.0
A9 A7 4e V- «7 300 720 20| D4 D14 Pass 68.0 6.0 Cl1 C9 44 S= vQ 620 69.0 5.0
D4 D14 3¢ V-2 46 200 66.0 80| A9 A7 Pass 68.0 6.0| E8 E17 44 S= vQ 620 69.0 5.0
E5 E12 2v O-2 +9 200 66.0 8.0 E9 E20 Pass 68.0 6.0 A9 A7 44 S= *2 620 69.0 5.0
E8 E18 INV-2 46 200 66.0 8.0|Cl2 C8 Pass 68.0 6.0 E9 E19 44 S= vQ 620 69.0 5.0
B9 B7 INO-2 46 200 66.0 8.0|D13 D6 Pass 68.0 6.0|E18 E2 44 S= vQ 620 69.0 5.0
E9 E20 3¢ V-2 46 200 66.0 8.0|E25 E11 Pass 68.0 6.0 D2 D10 3NN= v3 600 62.0 12.0
E3 E21 34 S+1 ¢6 170 59.0 150 C1 C3 2¢ N-1 &K -100 60.0 14.0| E10 E21 24 S+3 vQ 200 60.0 14.0
D10 D16 24 S+2 v5 170 59.0 15.0( B2 Bl 34 V+l A -170 39.0 35.0| E4 E22 24 S+2 T 170 56.0 18.0
Al A4 34 S= ¢4 140 45.0 29.0( D2 D12 24 V+2 +A -170 39.0 35.0| B6 B4 24 S+2 #8 170 56.0 18.0
Cl C3 24S+1 ¢6 140 45.0 29.0( A3 Al10 34 V+1 +A -170 39.0 35.0|C14 C6 34 S+1 #9 170 56.0 18.0
B2 Bl 34 S= A 140 45.0 29.0( B3 B10 34 V+1 +¢A -170 39.0 35.0| B2 Bl 34 S= vQ 140 44.0 30.0
D2 D12 24 N+1 A 140 450 29.0( A5 A6 34 V+l +A -170 39.0 35.0| C2 C4 24 S+1 vQ 140 44.0 30.0
B3 B10 24 S+1 ¢ 140 45.0 29.0( E5 E12 34 V+1 ¢A -170 39.0 35.0| B3 B10 24 S+1 vQ 140 44.0 30.0
D3 D5 34 N= ¢A 140 45.0 29.0( B6 B4 24 V+2 ¢A -170 39.0 35.0| C7 C8 34 S= ¢2 140 44.0 30.0
C5 Cl14 14 S+2 43 140 45.0 29.0( D7 D15 34 V+1 +¢A -170 39.0 35.0| B9 B7 24 S+1 vQ 140 44.0 30.0
A8 A2 34 S= ¢4 140 45.0 29.0( E7 E16 24 V+2 ¢A -170 39.0 35.0| D11 D12 24 N+1 ¢A 140 44.0 30.0
B8 B1ll 24 S+1 #3 140 45.0 29.0( A8 A2 34 V+l A -170 39.0 35.0|D14 D5 24 S+1 vQ 140 44.0 30.0
E10 E22 24 S+1 ¢4 140 45.0 29.0( B8 Bll 34 V+1 <A -170 39.0 35.0| E14 E12 34 S= 3 140 44.0 30.0
Cl2 C8 34 S= ¢6 140 45.0 29.0( D8 D18 34 V+1 ¢K -170 39.0 35.0| E15 E7 34 S= vQ 140 44.0 30.0
E25 E11 24 N+1 +¢A 140 45.0 29.0( E8 E18 34 V+1 ¢K -170 39.0 35.0| D6 D4 24 N= vQ 110 31.0 43.0
E4 E23 INV-1 48 100 26.0 480 B9 B7 34 O+1 +¢K -170 39.0 35.0|C10 C5 24 S= vQ 110 31.0 43.0
A5 A6 3¢ V-1 46 100 26.0 480 C9 C4 34 V+1l ¢A -170 39.0 35.0 | E11 E23 24 S= ¢+2 110 31.0 43.0
C6 C7 3¢V-1 46 100 26.0 48.0| D9 D11 24 V+2 ¢A -170 39.0 35.0|B12 B5 24 N= ¢A 110 31.0 43.0
E7 E16 3¢ V-1 4Q 100 26.0 48.0| D10 D16 34 V+1 +¢K -170 39.0 35.0| D9 D1 2v O-1 T 50 26.0 48.0
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B12 B5 3¢ O-1 «&T 100 26.0 48.0| E14 E6 24 V+2 ¢A -170 39.0 35.0| E1 E16 3NS-1 43 -100 14.0 60.0
D13 D6 3¢ V-1 46 100 26.0 48.0| E15 E13 34 V+1 ¢A -170 39.0 35.0| A3 A10 44 S-1 vQ -100 14.0 60.0
E17 E1 INV-1 46 100 26.0 48.0| E19 E2 34 V+1 A -170 39.0 35.0| D3 D8 3NN-1 a5 -100 14.0 60.0
A3 Al10 44 N-1 +A -50 15.0 59.0( D3 D5 44 V= ¢ A -620 9.0 65.0| A5 A6 44 S-1 2 -100 14.0 60.0
B6 B4 44 S-1 +¢6 -50 15.0 59.0 E3 E21 44 V= ¢ A -620 9.0 65.0| E5 E24 34 S-1 43 -100 14.0 60.0
C9 C4 44 S-1 v5 -50 15.0 59.0( E4 E23 4e4 V= ¢ A -620 9.0 65.0| E6 E13 44 S-1 vQ -100 14.0 60.0
E14 E6 44 S-1 ¢4 -50 15.0 59.0( C5 C14 44 V= +K -620 9.0 65.0| A8 A2 44 S-1 vQ -100 14.0 60.0
D7 D15 1¢ V+1 46 90 9.0 650| C6 C7 44 V= ¢ A -620 9.0 65.0| B8 Bll 44 S-1 vQ -100 14.0 60.0
C13 C10 2¢ V= *2 -90 9.0 65.0( E10 E22 4a V= ¢ A -620 9.0 65.0|C13 C11 44 S-1 vQ -100 14.0 60.0
D8 D18 1¢ V+2 46 -110 3.0 71.0|Cl11 C2 44 V= ¢ A -620 9.0 65.0|D13 D7 2NS-1 vQ -100 14.0 60.0
D9 D11 3¢ V= 46 -110 3.0 71.0|B12 B5 44 V= ¢ A -620 9.0 65.0| E20 E3 44 S-1 ¢2 -100 14.0 60.0
E15 E13 3¢ V= a7 -110 3.0 71.0|C13 C10 4a V= ¢ A -620 9.0 65.0|C12 C3 44 S-2 ¢2 -200 1.0 73.0
E19 E2 2¢ V+1 a7 -110 3.0 71.0|E17 El1 44 V= ¢ A -620 9.0 65.0| D18 D15 3NN-2 K -200 1.0 73.0
- D1 28.9 - D1 28.9 - D16 453
22 4 EKn3 Basta kontrakt 23 4 Kn86 Basta kontrakt 24 4 EKD9732 Basta kontrakt
Ost v 1053 3v O =-140 Syd vD1064 ANT S =630 Vast v- 3v VD-1100
ov ¢ EK53 Alla ¢ 102 Ingen ¢ 102
#1063 & ¢ v & NT #D1063 & ¢ v & NT #DKn103 & ¢ v & NT
49765 &aK4 N56 466 a7 4ED109532 N 9 8 9 6 10 454 4 Kn106 N6 85 88
v K87 v EDKn6 S56 466 vKn972  v85 S 9 8 106 10 vDKn764 v9853 S 68588
¢ Kn874 ¢ D9 087 96 6 ¢ DKn965 ¢3 045373 ¢ ED8 ¢ KKn 06 4834
298 #KD752 V87 966 #EKn5 *742 V45373 *E84 2K975 V75855
« D1082 s K4 48
v 942 v EK3 v EK102
41062 + EK874 4976543
#EKn4 *K98 *62
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
Cl4 C6 INN+1 v6 120 740 0.0| Bl Bll 44DO-4 vA 1100 740 00| C3 C5 44DN= v9 590 74.0 0.0
Bl B11 24 0O-1 42 100 66.0 80| B7 B5 3¢DO-3 vA 800 71.0 3.0| B1 Bl1l1 5vDV-3 4A 500 70.0 4.0
A2 A5 INO-1 «2 100 66.0 8.0|D15 D1 34DO-3 ¢K 800 71.0 3.0| B3 B2 5vDV-3 A 500 70.0 4.0
B3 B2 INO-1 42 100 66.0 8.0| B6 B12 3NS+2 ¢9 660 66.0 8.0|D18 D13 5vDV-3 4A 500 70.0 4.0
D3 D8 INO-1 42 100 66.0 8.0|E12 E24 3NS+2 ¢5 660 66.0 8.0| D2 D14 44 N+2 v9 480 65.0 9.0
E6 E13 2v O-1 42 100 66.0 80|Cl4 C7 3NS+2 ¢5 660 66.0 8.0|E12 E24 44 N+2 v6 480 65.0 9.0
B7 B5 INO-1 42 100 66.0 80| AL A3 3NN+1 v2 630 61.0 13.0| A1 A3 44 N+1 v9 450 56.0 18.0
E14 E12 INO-1 48 100 66.0 80| B4 B10 3NS+1 ¢6 630 61.0 13.0| A2 A5 44 N+1 v5 450 56.0 18.0
A6 A7 1a S= v7 80 58.0 16.0| E2 E17 3NS= ¢+9 600 54.0 20.0| B4 B10 44 N+1 3 450 56.0 18.0
Al A3 1aS-1 K -50 54.0 200 B3 B2 3NS= ¢+6 600 54.0 20.0| D4 D8 44 N+1 v9 450 56.0 18.0
D14 D5 24 S-1 &9 -50 54.0 200 A9 A8 3NS= +J 600 540 20.0| B6 B12 44 N+1 ¢33 450 56.0 18.0
E15 E7 14 S-1 49 -50 54.0 200({C11 C6 3NS= +Q 600 54.0 20.0 | E10 E20 44 N+1 3 450 56.0 18.0
E18 E2 140= v2 -70 50.0 24.0( D11 D10 3NS= ¢5 600 54.0 20.0| D15 D1 44 N+1 v5 450 56.0 18.0
B4 B10 1vy O= 48 -80 47.0 270 A6 A7 34DO-2 ¢A 500 48.0 260 C1 C4 44 N= v9 420 43.0 31.0
B6 B12 1v V= a2 -80 470 270 D9 D3 34 O-2 <vA 200 46.0 28.0| E5 E23 44 N= v9 420 43.0 31.0
El E16 24 O= 42 -90 380 36.0(E11 E22 2NS+1 2 150 44.0 30.0| E6 E25 44 N= v3 420 43.0 31.0
C2 C4 140+1 48 -90 38.0 360 E9 E18 2NS= ¢6 120 410 330 B7 B5 44 N= v3 420 43.0 31.0
E5 E24 INO= v8 -90 38.0 36.0(E16 E8 2NS= ¢6 120 41.0 33.0 D11 D10 44 N= v3 420 43.0 31.0
Cl10 C5 INO= 42 90 380 360 C1 C4 3NS-1 +Q -100 29.0 45.0| E15 E1 44 N= v9 420 43.0 31.0
E10 E21 14 O+1 438 -90 38.0 36,0 A2 A5 3NS-1 &5 -100 29.0 45.0| B9 B8 4vDV-2 4A 300 35.0 39.0
E11 E23 24 O = 48 -90 38.0 36.0( C2 C10 3NS-1 +6 -100 29.0 45.0|C13 C12 4vyDV-2 4A 300 35.0 39.0
C13 Cl11 14 0+1 ¥9 -90 38.0 36.0( D2 D14 3¢ N-1 4A -100 29.0 45.0| A6 A7 34 N+3 v3 230 32.0 42.0
D2 D10 24 N-2 #Q -100 28.0 46.0| A4 A10 3NS-1 +6 -100 29.0 45.0| E2 E17 34 N+2 v9 200 25.0 49.0
D11 D12 24 S-2 &9 -100 28.0 46.0| D4 D8 4y N-1 4A -100 29.0 45.0| A4 A10 34 N+2 v4 200 25.0 49.0
Cl2 C3 24 S-2 &9 -100 28.0 46.0| E7 E14 3NS-1 +¢Q -100 29.0 45.0| E7 E14 34 N+2 v9 200 25.0 49.0
Cl C9 1v O+1 T -110 19.0 55.0| B9 B8 4vy N-1 3 -100 29.0 45.0| C8 C9 34 N+2 v5 200 25.0 49.0
A4 AL0 1lv O+1 42 -110 19.0 55.0 | E10 E20 3¢ S-1 &7 -100 29.0 45.0| E11 E22 24 N+3 +8 200 25.0 49.0
E4 E22 1v O+1 2 -110 19.0 55.0| D18 D13 3NS-1 9 -100 29.0 45.0|C14 C7 34 N+2 +3 200 25.0 49.0
C7 C8 1lv O+1 2 -110 19.0 55.0| C3 C5 3NS-2 +¢5 -200 13.0 61.0|C11 C6 24 N+2 v9 170 18.0 56.0
E8 E17 1v O+1 6 -110 19.0 55.0| E5 E23 3NS-2 +¢Q -200 13.0 61.0| D7 D6 4v V-2 «A 100 14.0 60.0
D9 D1 3#0= a2 -110 19.0 55.0| E6 E25 3NS-2 &5 -200 13.0 61.0|E16 E8 4v V-2 &A 100 14.0 60.0
A9 A8 INO+1 48 -120 10.0 64.0| C8 C9 3NS-2 +¢5 -200 13.0 61.0|E19 E3 3vV-2 «A 100 14.0 60.0
E9 E19 INO+1 48 -120 10.0 64.0| D12 D16 4v N-2 3 -200 13.0 61.0| C2 C10 3v V-1 &A 50 8.0 66.0
E20 E3 INO+1 4 -120 10.0 64.0|E15 E1 4vy N-2 3 -200 13.0 61.0| E9 E18 3v V-1 A 50 8.0 66.0
D6 D4 2v O+1 &A -140 6.0 68.0| D7 D6 3NS-3 +¢6 -300 3.0 71.0|E21 E4 4vy V-1 &A 50 8.0 66.0
D13 D7 3¢ N-3 YA -150 4.0 70.0|C13 C12 3NS-3 +¢Q -3000 3.0 71.0| A9 A8 44 N-1 ] -50 2.0 720
D18 D15 3v O+1 &4 -170 2.0 72.0|E19 E3 3NS-3 a7 -300 3.0 71.0| D9 D3 44 N-1 v9 -50 2.0 720
B9 B8 24D O= 42 -180 0.0 740|E21 E4 5¢ S-3 a7 -300 3.0 71.0|D12 D16 34 N-1 K -50 2.0 720
- D16 45.3 - D5 37.1 - D5 37.1
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